



**Nombre Del Alumno: Gabriela
Montserrat Calvo Vázquez**

**Nombre Del Profesor: Juan José
Ojeda**

Nombre Del Trabajo: Problemario

PASIÓN POR EDUCAR

Materia: Calculo

Grado: 4 Semestre

PROBLEMARIO

$$y = x^5 + 5x^4 - 10x^2 + 6$$

$$y' = \frac{d}{dx}(x^5) + 5 \frac{d}{dx}(x^4) - 10 \frac{d}{dx}(x^2) + \frac{d}{dx}(6)$$

$$= 5x^4 + 20x^3 - 20x$$

$$y = 3x^{1/2} - x^{3/2} + 2x^{-1/3}$$

$$y' = 3 \frac{d}{dx}(x^{1/2}) - \frac{d}{dx}(x^{3/2}) + 2 \frac{d}{dx}(x^{-1/3})$$

$$y' = \frac{3}{2}x^{-1/2} - \frac{3}{2}x^{1/2} - \frac{2}{3}x^{-4/3}$$

$$y' = \frac{3}{2\sqrt{x}} - \frac{3}{2}\sqrt{x} - \frac{2}{3\sqrt{x^4}}$$

$$y = \frac{1}{2x^2} + \frac{4}{\sqrt{x}} = \frac{1}{2}x^{-2} + 4x^{-1/2}$$

$$y' = \frac{1}{2} \frac{d}{dx}(x^{-2}) + 4 \frac{d}{dx}(x^{-1/2})$$

$$y' = -x^{-3} - 2x^{-3/2}$$

$$y' = -\frac{1}{x^3} - \frac{2}{\sqrt{x^3}}$$

$$y = \sqrt{2x} + 2\sqrt{x}$$

$$y = \sqrt{2}\sqrt{x} + 2\sqrt{x}$$

$$y' = \frac{\sqrt{2}}{2} \frac{d}{dx}(x^{1/2}) + 2 \frac{d}{dx}(x^{1/2})$$

$$y' = \frac{\sqrt{2}}{2} x^{-1/2} + x^{-1/2}$$

$$y' = \frac{\sqrt{2}}{2\sqrt{x}} + \frac{1}{\sqrt{x}} = \left(\frac{1}{2}\sqrt{\frac{2}{x}} + \frac{1}{\sqrt{x}} \right)$$

$$F(T) = \frac{2}{\sqrt{T}} + \frac{6}{\sqrt[3]{T}}$$

$$F'(T) = 2T^{-1/2} + 6T^{-1/3}$$

$$F'(T) = 2T^{-3/2} + 6T^{-4/3}$$

$$F'(T) = \frac{2}{\sqrt{T^3}} + \frac{6}{\sqrt[3]{T^4}}$$

$$y = (1-5x)^6$$

$$y' = 6(1-5x)^5 \cdot \frac{d}{dx}(1-5x)$$

$$y' = -30(1-5x)^5$$

$$F(x) = (3x - x^3 + 1)^4$$

$$F'(x) = 4(3x - x^3 + 1)^3 \cdot \frac{d}{dx}(3x - x^3 + 1)$$

$$F'(x) = 4(3x - x^3 + 1)^3 \cdot (3 - 3x^2)$$

$$F'(x) = (12 - 12x^2)(3x - x^3 + 1)^3$$

$$V = (3 + 4x - x^2)^{1/2}$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{-1/2} \cdot \frac{d}{dx}(3 + 4x - x^2)$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{-1/2} \cdot (4 - 2x)$$

$$y' = \frac{4 - 2x}{2\sqrt{3 + 4x - x^2}}$$